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SECTION A: BUILDING ECONOMICS |

Anmswer THO guestions from this section

l. {a)  Define the following terms:
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(i)  Building economics. - c¢jenc  of {5 marks)

(b)  Differentiate between the following as applied in building economics:
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Z. (a) Define the term elasticity. oot T I {3 marks)
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(b} State Tour factors that influence elasticity. [ = (4 morks)
{e¢j  Explain the following types of inflation: || =
|
(i} Demand Pull inflation; -IJ'I-
|
(ii)  Cost Push inflation. | : {6 marks)
(d)  State four causes of cost push mflation. = T Gk
(e)  Draw a regressive supply curve of income versus number of hours worked and
explain the behaviour of the graph. (4 marks)
3 State and describe five methods of valuing landed property. ' (20 marks)
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il SECTION B: CONSTRUCTION LAW

Answer ONE question from this section
. {a) Define the following:
(i) ' Constitutional law; "~ g
: (i)  Criminal law; - & p*
(i) Civlliw, - o poob i e 4 i - (6 marks)

(b) (i) In relation to the law of contract, explain the following essentials of a valid

i T [ i
i = 5 . pub e
(Il)  Undue influence. -
! (i)  Explain the nature of tort of trespass of land. (8 marks)
(e}  Describe the following torts: - et e e
' At |

(i)  Personal liability;
(i)  Vicarious liability. {6 marks)
5 {2}  Describe the following leases of land:

i ; I ged e Jr e e i
(1) Free hold tenure; - ¥z gpyve % £lm s .

= {ti})  Lease hold tenure, {6 marks)
(b}  Describe the following types of lease hold tenure:

{1} Fixed leases;
(i1}  Periodic ienancies. {6 marks)
j (c) State two rights and twe Labilities of a lessor, {4 marks)
4 {d)  Explain the nature of mortgaged property. {4 marks)
2306/305 3 Turn over

Dot Now, 2016




easytvet.com
SECTION C: ESTIMATING AND COSTING

Answer TWO gquestions from this section

(Use the information given in appendix I to answer questions in this section).

. {a) Explain how the following affect the overall cost of a project giving four examples
in each case:

(i} storey or overall height;
(11 circulation areas. (7 marks)

(b} List six reasons why the tender sums from various bidders differ substantially for

the same project. {3 marks) -
(¢)  Caleulate the unit rate for planting and strutting per linear metre. Make
reasonable assumptions where necessary. (10 murks)
7. {a)  Describe the cubic method of estimation of a building giving two meriis and
two demerits of this method, {6 marks)
iy ¥y i :
(b} Define the term unit rate, stating four contents of unil rate, '.pf-': i {4 marks)
. g
(C) Calculate the unit rate for roofing tiles using information in appendix 1. Make
reasonable assumptions where necessary, {10 marks)

8. Caleolate the unit rate of 1 m* brick wall laid in jointed in cement sand maortar (1:3)
using the information given in appendix |, Make reasonable sssumptions where

THECESSary. (20 marks)
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Appendix 1

Caost of nmber per m*

Sizo of polling boards -2t

Sem ol stts: M L 1 5 &

Cosl of nails

Skilled labour per hour :

Unskilled labour per hour — ~*

Working hours

Size of files

Sizeof battens 1§35 .

Cost of 1000 pieces of tiles

Size of brick b
@ Cost of cement per 50 kg delivered

Cost of sand per tonne delivered

Density Of cement

Density of sand

Price of new mixer 7

Fesale value

Life span

Interest on capital

Insurance per annum

General repairs and maintenance

Fuel 9 litres per hour @

Volume of mixer bucket

Cyele time of mixer

-

1294 10
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Ksh 9,500/=

150 x ) mm .- -

100X S0 mm — =1

Esh 50 per kg

Esh 42.50i=

Ksh 25.50/=

8 hours per day -

420 x330 mm

50 x(r 25 mm

Ksh 18.000/= |
215 % 102.5 % 65 mm |
Ksh 1,050/=
1440 kglm”
1050 kg Cize H§ SIS
Esh 360,000/= o
Ksh 40,000/=
4 years |

15% per annum

Ksh 5,0000= %
Ksh 52,000/= per annum

Ksh 41.20

0.25m’

6 minutes 40 seconds
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Make any other reasonable assumptions where necessary.
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